/\/uMeﬁCo\Q OW\OJ%QTS T ~Hec_(/\qn\rco~gl Gniiv\eev\.m_j__
{OV‘ Enjlneeﬁmﬁ AF\’\A\COAT UM S '

= Lineay JW%‘Q Q,‘(’SS,

_ Monlimear & o

— i “melhods
S+€¢*~<>Q‘3 AF?FQ e&s 1= ¢ linear or :non(M@de

_ U/\S{"emlj, (« g ,
/ @ nMvv\«Q/\“.c,w\Q
¥ = g o o
g

[TP IR AL
5-’\’ 6\.\9'3 L: %) ree o
. } ;C SET (rSWErs

Numert S;'Q+CM of
> a(qefamrc e <.

|

T ——




§L\&4‘OJR>N O, (,T/V\ealr AlfTeLJV‘O\

7N

Mot — modv x Mu\%?\? oUro

A K —> C = AB

MO\"_T‘IBC e(eMen‘\—S C{j — QUC loh\')\ E = ( '2,'~ y W)
j: "'7"," : Q
k=2, N

ler 4he columas 5]) R be Ae_no‘}*eo\ ivogs K .- ng
_ \ L <
A@’ CAE;AEZ/'F")AQ] AxL
@pem\*rcm Counds @&, %= -~ Qo h\‘b, T mmlk(r\rcal-nm;

e

A b O G ~--Gan || W N xm
paxn N 5 | addiboms
\\Qm‘ Ome ** - Amn ,\Lby’// Cf\—\) X ™




i oman & cn®) oPem&ms QV‘QYQBMRVQJ'

A B s manx £ mu\-\-‘,fl,\@\.{,\\d\,\s
mxn oz mxen-) x L addidrmms

% men=8, 8Crd operationg
&y A=500 —> = 1.2¢ x g

If\‘\‘egx TAanium 2 — 306 UFlops

8% [ ’F\oahmg—-gcﬁm** GPWHM

\—@ o e G 4
CRAY cAo Svee)\ SR YM’MK&Q@ ¢ -

tor AR, = LT A2 = 02 &
3 X (6%

i vod (q39s  TBM g —> Booo Flogs

o>t ahrs

NEc SX5 — 3 & Flogs — £t o 0352cC
=Y
GAIA 1536 ceves —» 23 3T THleopx — +t= o5 X0 sec



How a‘oo\zf n—= toé 7 — (\3: tb‘?

l/ In\“p\ Thaniowm 2 » £ = 2 N\ loé e
C_PC,> S?Uég -
39 $
Yoo re st =

l°°° L"' LN kw /Kox (0> CPO \Wvs

GAIA £ = ~ L2 sec,

52 20 % %

Modrvrin — Mot ™ u\\—\?,ﬁ;']? ca%—bﬂ TR (4 X '—-19

o very expensive Jolo,




